



اسم: _____

التاريخ: _____ النتيجة _____

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{2}{5}\right) - \frac{1}{6} =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right) - \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{2}{5}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right) + \frac{1}{4} =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{1}{2}\right) =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{1}{150}\right)$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{5} = \left(-\frac{4}{45}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{91}{100}$$

$$\left(\frac{2}{5}\right) - \frac{1}{6} = \frac{7}{30}$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{6}\right) = \frac{29}{192}$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{2} = \frac{59}{64}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{3}{4}\right) = \frac{77}{108}$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{2}{5}\right) = \frac{263}{320}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{5} = \left(-\frac{3}{40}\right)$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{3}{4}\right) = \frac{21}{64}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{67}{180}\right)$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{4}\right) - \frac{1}{3} = \left(-\frac{1}{12}\right)$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{2} = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{2}\right) + \left(-\frac{3}{4}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{2}{5}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{6}\right) + \frac{1}{4} = \frac{5}{12}$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{3}{16}\right)$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{1}{2}\right) = \frac{1}{3}$$